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The diagram below shows two vertical buildings, A and B (diagram not to scale).
Mary stands at the top of Building A. She is 220 m above the ground.

She wants to work out the distances marked y and z in the diagram  that is, the distance from
the top of Building A to the bottom of Building B, and the height of Building B, respectively.

Mary measures the two angles that are marked 35° and 20° in the diagram, to the bottom of
Building B and the top of Building B, respectively. The broken line is horizontal.
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(a)  Work out the size of the angle C.
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(b)  Mary works out that the horizontal distance between the two buildings is 154 m,
correct to the nearest metre, as shown.

Use the Theorem of Pythagoras to work out the distance marked y on the diagram.
Give your answer correct to the nearest metre.

(c)  Use trigonometry to work out the value of z the height of Building B.
Give your answer correct to the nearest metre.
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Two friends are building a skate-board ramp.
They each have a different design for the ramp.

(a) Tracey draws the following diagram as
part of her design for the ramp.
It is made up of a triangle and a square.
Itis to a scale of 1: 100.
The angle A is marked.
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(i) Construct a scale diagram of this part of the design for the ramp in the grid below,
to a scale of 1: 50. Each side in your diagram should be twice the length of the
corresponding side in Tracey’s diagram. One side is already done for you.
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(i)  Construct a scale diagram of this part of the design for the ramp in the grid below,
to a scale of 1: 50. Each side in your diagram should be twice the length of the
corresponding side in Tracey’s diagram. One side is already done for you.

4cm

(i) Measure the size of the angle A in Tracey’s diagram above.

Answer:
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Sinéad has a different design for the ramp.
Part of Sinéad’s design is the right-angled triangle in the diagram below (not to scale).
One of the sides is marked B. One of the angles is marked C.

96 cm

180 cm

(b) Use the Theorem of Pythagoras to work out the length of the side B in Sinéad’s design.
Give your answer in cm.
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(c) Sinéad knows that, for the angle C,

96
tanC=——
180

Use your calculator to find the size of the angle C, correct to the nearest degree.





